SthuLhyuyutu PLNFEUGPHM - ALUUL JUUULUYUSNEF38*

IUIMELYUS

33 nhwd

Uwpwlph

lh

quncdutph
wwuny
Uwhuwwunbudwd
uhgwighy

dwslwahpp’
puwn QUU

nwuwywpguwl
(CPV)

wlywuncdp

wuwnwup
wjhu Lawlp,

dhpuwjhu
wlywuncup,

Unnbp
wnuwnpnnh
wuyjwuncdp**

nGhulhywywu
punLpwahpp **

swthdwu
uhwdnpp

dhwynn
ghup/33
nnuwJ

punhwuntp
ghup/33
nnwu

punhwuncp
pwuwyp

Jwunwywpwpdwu

hwugtu

tupwlw | dwuytnp*

pwuwyp

30211300/2

Swdwlwngswhu
uwnpwynpnwdutn
L ywpwagwubn

LEnpyuwywgyned
£ hwdGywdny

SGhulhywywl
pUNLRWANEND
uGpYwjwgunid Gu
uinnple, 3wdGywsd 1-ny:
Uhwdwdwlwy,
Jwwnwywnpwnp
wwnpwwynp £
wwwhnyg.

o Swdwywpghsutpned,
wyn pUYNLU* nynLpuwiyhn,
Lwhiwwtu nGnwnpyud
owbGpwghnu
hwdwywnpgh
Ywngwptpnwd
(hwdwéawyu
nGhulhywywu
hwuwynpn2hgutiph
wwhwlgUbph):

e S3S
[wpnpwwnnphwubph
utipphu gwigh
inGnwywydwu
Lwwuwnwyny
Gppninhsutnh WAN, LAN
W WiFi ywpqwynnpntd,
SSID, WPA2-PSK
wuyunwugnijwu
Jwywpnwyh W wifi
quinuuwpwnrh
uwhdwuntd, S3S
[wpnpwwnnphwubph
hwdwp gnpswpwuwjhu
ogunuwlywl W
gwnuuwpwnh
thnpunipeinLl W
wnpwdwnpnty:

o PwquwdnLuyghnuwiy
wnwhgh Uhwgned SIS
[wpnpwwnnphwjh (nYuy

Inwywau

359,952,440

359,952,440

LEpywjwg-

ynud £
uwnnnle,

Swybywsé

2-ny

Muwydwluwagph
nLdh Utp
JwnubinLg

1 hGunn Uhusl

2024p-h
hnyuntGdptph

31-p UGpwnywy




gwlghU LAN Ywd WiFi
Uhgngnu:

e Pwquwdpniuyghnuwy
nwyhgh pwgnwyhu
wwwhnydwu
wnGnwnpnwd
hwdwlwpghsutpned,
wyn} pUNLU* nynLpwiyhn:
e Ubipphu gwugh pninp
Ywnquwynpnrdutinh,
Utipwnjwy Gpentnhgh
WAN, LAN W WiFi, SSID,
ogwnynnh wuntul nL
qwnuuwpwnp,
hwdwywnghsutph
qunuuwpwntnh
thwunwpnrwynpnid L
npwdwnpned:

o MpnjGYwnnpuGPH
Jhwgnud L
Ywpquwynpnd
rynLpwyhn
hwdwywnpghsutiphu:

e S3S jwpnpwwnnphwih
hwdwp bwhiwwnGuywd
wnnjGywnph
wwwnh/wnwuwnwnh
wupwgdwl
hwywpwdnth
inGnwnpnud
hwJdwwwwnwuhuwl
wnnjywnph
Ywpqwpbpnid:

e 3D wnwhsh
Jwpgwptpnud:

o Uwwithwpbrwynpned,
wpwnwphu
Juwuywsputph
uwnnLgnLy:

* Uwpwuph dwunwlwpwnpdwl dwdytunp, huy thnywiht dwnwywpwpdwu nGwpnid” wnwghl thnuh dwnwywpwpdwl dwdytnt wnudwgl 20 opwgnigwiht op £, nph hwpdwpyp Ywwnwpynwd E
wwjdwlwagpny bwhuwwnbuyws Ynndbph hpwyniupubph W ywpunwlwunueniubGph uwnwnpdwu ywydwUl ndh Jgg dinuGint opp, pwgwnnipjwdp wju nGwph, Gpp puunpdwéd Jwubwyhgp hwdwéwjunwd £
wuwnwupp Jwunwywnwnt wytih Yuwps dwdytunnwd: Uwwnwlwpwndwl yEpguwdwdytunp sh wpnn wydb) |hub), pwu 2024p-h nGYwntuptnh 15-n:

*BRrb punnyws Jwulwygh hwjinny Uspyuwygnt £ Utyhg wdtih wpwnwnpnnutph ynnuhg wpunwnpyws, huswtu bwle inwppbp wwynpwupwihu Upwl, $hpdwiht wudwuncd W Unnbi nctubgnn wwnpwlplbp, wuwjw
nnpwughg pwdwpwnp guwhwwnywsubnp Upwnyned 6U unyu hwdGYwsdnid:

** «QUunrdubph JwuhUy 33 optuph 13-nn hnnywsh 5-pn Yewnh wywhwugubph hwdwéawju guuywgwsd hndwu nEwpnud Yhpwnth U «ud hwdwpdtbp» pwnbpp:

- Uwwunwwnwnp wGwnp Ewwpwupp nnGnwitnfuh 33-nwd hp wd hp Ynndhg yupdwywjwsd tnwnwbdp, npuintn wwpwupubpp punpwupwhlu Ywpgny wtwnp £ Bupwnpydtu unnigdwl hwdwwwunwufuwlntejwun
wwjdwlwagpht (npwpwgnin wwpwlpwnbuwyhg punpwlpwihu ywpgny pyny 5 Udnph hwdwwwwnwupuwuniejwl unngnd wywjdwuwagpny bwhuwwnbuws nGhubhywywU punigewagnhu), nph
hwuwnwwunnidhg hGunn unp wtwnp £ wnwpytl nupngutph guwuynwd Updws hwugbutpny: Uwunwlwpwndwl Gpguwdwdytunu £ 31.10.2024e., npu hp Jbp UGpwnnud £ |hgtuquynpgwé Spwagptph tnGnwinpnidu
nL unquipipnedp, npnlig Ynntipp Ynpwidwnndh Mwndhpwnnth Ynndhg:

- Uypwuph nEnwithnfunwdp, ptnbwpwthnidp, mEnwnpnidp W thnpadwpyncdp unwpned £ dwnwlwpwpp:




IUYGELYUG 1

nbGhuhjwywl punLpwaghp -
gudwl dwdwluwluwgnijgh
StluLhuuuul PLNHRUGH
Shduwyw | Uhguwluw
u ng
nwpngutp | nypngutn Cunhw
N° ULywUndp Spwytpny uwhdwuywd Uwulwlygh Ynnuhg AU *20- *20- Untp
wnbhubhjwlwl nygjuiutp wnwownlynn nmbEuuhjwyuw wwlytpwn | wawybpwn u
wnyjwiutp funnLpjw | hunnLpjw puiwy
Up Up
24 55
Swdwlwnghy” wdpnnop JGynwd
OwbpwghnU hwdwywpg "
Swwlunghy wipnngn Usynud Wi g
Owtipwghnl hwJwyuwng * Windows11%, wnngbunp’ Intel i3 /ny 2nLin pwil
wnngtunnp’ Intel i3 /ny 2nLun pwili 20232. 2023. Uptnwnpnwpjuwl/, juu
Upwnwnpncpjwl/, juwd hwdwndtp, hwdJwndtp,
8 Qf DDR4 hhznnnLraJnLU, 8 QP DDR4 hhonnnipjnLu,
Gigabit (10/100/1000) LAN Gigabit (10/100/1000) LAN
WLAN: 802.11ax/ac/alblgin, WLAN: 802.11ax/ac/a/big/n,
SSD 256 GB, SSD 256 GB,
UlnLguwili winpynLp 120V-240V/ 50-60Hz, Max | YJUNLGUWIL wnpinin 120V-240V/
100W, schuko plug, 50-60Hz, Max 100W, schuko plug,
EypwUl wnLdwaql 21.5 anJu Eypwll wnudwaqu 215 rynuyJ
wlyntuwgdny iyt Eypwl LCD wuyniuwagdny il Eynwi LCD
1 %wdwuwnq.hk hUJHLLILhLUJ[WLED backlit Full-HD (1920 X 1080), hLUL|u,ILhLUj|_WLED backlit Full-HD hwun 10 10 790
huwnbignyws HD Graphics, USB untinuwown | (1920 x1080), huintignywi HD
W USB owtnhywiywl Jyuhy, Graphlcs, USB uinbnuwawnp W USB
Audio codec, UGnywnnLgywd owwhywywl dyupy,
pwnépwiunultn W hypndnl, Audio codec, UGpywnnLgywd
HD wbuwlughy, pwpépwhunultp W Uhynndnl,
Utpwnywd pninp wuhpwdtion HD inGuwfughy,
Jwnthulit, UGpwnywd pninp wuhpwdtown
HDMI tijp, winLywiq 3 hwin USB 3.0, 1 hwin | wincfuliGin,
USB Type-C HDMI Gip, wnujwqu 3 hwwn USB
Gnpwotuhp' 3 tnwph 3.0, 1 hwun USB Type-C
Upwwnnnnhg Epuiafuhpuwihl Uwiwly Gruatung’ 3 thuinh
(MAF) - Nwhwlgyncu E Upunwnnpnnhg Epw2iuhpwjhu
Uwdwy (MAF) /DAF
Ywpwdwnnpyh




dwwnwuwpwpdwl
dwdwlwly

Lwpdwl wynndwun YunpgqwpGpnod (AVR)

LwpdwU wywnndwwn
Ywpgqwptnpnwd (AVR) 145-295V,
Glpwjhu hgnpniejnitup

145.205V/ wnUuywqu 500 Watts,
b[pwjhh,hqnnnL[ajnLUn wnuywaqu 500 Unlyuwql 2 huin Schuko Ywd
Watts, nLuhytpuwi Gpwhu hnuwuph
ULfuwithuwl gnuqutqﬁ 2 hulJJm Schuko Ywd nLtuhyGpuwy gﬁ{:\gwﬂhnwdbzm A 305
uunLgdwl uwpp pLQuJJh nuwuph yunnuy, dwnLpulbpp, wn
ninp wuhpwdtwun Jwinchultinp, UlinLaduwil huko ol
UunLgdwl jwp schuko plug, QUILLLI U Schuko plug,
. Gpwatuhp’ 1 tiwph
Gnwafupp 1 twnh Upwwnpnnhg bpwatuhpughl
Upinwnpnnhg pwztuhpwhl Uwdwy | MHTINELRG B0 22 R
(MAF) - MwhwUgynu £ Uwidwy (MAF) /DAF
Ywpwdwnpyh
dwwnwuwpwpdwl
dwdwlwy

Aspect Ratio. 16:10 hhduwyuw, 4:3,

16:9 huwpwynp,
Aspect Ratio. 16:10 hhduwyw, 4:3, 16:9 WXGA (1280 x 800) hhduwluwi,
huwpwynp, Uhu. 3800 ynLutl,
WXGA (1280 x 800) hhdbwyuw, Jdhusl 1,07 Uhihwpn gnyutp,
Uhu. 3800 ynLdtl, UnUwinpwuwn hwpwp. >=25000:1,
Jhusle 1,07 Uhthwpn gnyutn, Lwdwh Yjwlpp® Uhu. 6000d
UnUwipwuwn hwnwp. >=25000:1, (Unnwiunwnun), 10000h (EYnunu),
Lwdwh Ywupp® Uhu. 6000d (Unwlunwnuw), | HDMI UnLinp, VGA Untuinp, wnLnhn
10000h (EYynUunu), UnLwnp W Gip, USB 2.0, VGA Gip,
HDMI UnLwnp, VGA UnLuinp, wntnhn untinp W | LEpwnywd E hnuwlph (wp,

MpnjGYwnnp Gip, USB 2.0, VGA tip, hGnwywnwywpdwu Juhwluwy hwuwn 158
LEpwnywé E hnuwuph jwn, L Jwpwnyngutp, hunbgpdwéd
hGnwywnwywpdwlu Jwhwuwy W pwpépwhunu,

Jwpwnyngubp, huintanpdwsd pwpénwfunu, | HDMI dwinihu 15 U,
HDMI Jwinihu 15 U, 220V-240V/50-60Hz (uunLgdwu
220V-240V/50-60Hz (uunLguwu jwpp schuko [wnp schuko yuwpnwyhg),
Jwpnwyhg), Gnw2tuhp® 3 tiwph
Snw2kuhp’ 3 twnh Upwinwnnpnnhg Gpw2tuhpwjhl
Upwnwnpnnhg Gphw2fuhpwjhu Lwdwy Uwdwly (MAF)DAF
(MAF) - NTwhwugynd E Yumpwdwnpyh
dwwnwuwpwpdwl
dwdwlwy
Stuwyp - hnthnpuwywu hnuwlph Suwlip - thnthnfulwl
UunLgdwl jwp uunLgUwU win LghsUtinh nGuwln hnuwUuph uunLgdwl jwn hwuwn 79

Male, Schuko CEE 7/7 Female End Type - IEC
320 C13

ughsutiph tnbuwyp




Lwph Gpywnpnipeiniup - 10U
Upwwnpnnhg Gpw2tuhpwjhu bwdwy
(MAF) - 2h wwhwlUgynLd

Male, Schuko CEE 7/7 Female End
Type - IEC 320 C13
Lwph Gpywpneyniup - 104

Swdwu dup’ jwabtnwjh, thwupwreneh
Jwuwunnigdwl dlp wywnndwiin (ADF), swithp
A4,

Swwgnnijwl wpwagntentup wnbywqu
A4 swuthh 38 Ep pnwGined,

uGpywnnigwd Gpyynndwuh
upwluwynpdwl, wwwndtuwhwudwu nL
wnwJwl huwpwynpnipeinil,

Swdwu adlp’ jJwgGpwyhl,
thwupwenrh dwwnnigdwl dup
wywnnduwun (ADF), swuthp A4,
Swwagnpnipjwl wpwagnLejnLup
wnuywaqu A4 swithh 38 Ep
pnwtny,

uEpywnnigywsé Gpyynnuwuh
upwlwynpduwl,
wwuwnsGuwhwUudwU nL tnydwiu
hUwpwynpnipjnLu,

wnUuywqu 512 Mb hhannnipejnLu,

PuqUuwdpniuyghnu | wnujwqu 512 Mb hhonnnipnLy, ADF-h tnwpnnnLpntp 50 by hutn 79
w nwhy ADF-h tnwnnnnifejntlp 50 tg, UhuwgnLuUtin® USB 2.0, Ethernet
Uhwgncdutp® USB 2.0, Ethernet (10/100/1000) (10/100/1000) LAN -
Cbrh Unhs (caridge Ubnlh Unh (cartidge),
i Uuncgnuup 220-240V/50-60Hz,
UunLgntup 220-240V/50-60Hz, ulnLgdwiu ulnLguwili jwin schuko Yghsny,
[win schuko‘ughknu_, Gnwpfuhe 3 wwnh :
onuifuhp 3 tnuinh Upunwnpnnhg pwzhuhpwjhl
Upwnwnpnnhg tpw2iuhpwjht bwdwy Uwidwly (MAF) /DAF
(MAF) - Twhwugynid £ yupwdwnpyh
dwwwuwpwpdwl
dwdwlwy
Gnwswith FDM inwhy
£ inwywdph swithp - 220220240 U
inwywdph swhp - 220*220*240 JJ nwybinL wowbrugniL
Lr(l)l(,)ubl_n/l_ wnwytjwagnyl wpwagnentup - wnwanLRInLLp - 500 Ud 1dny
500 UU Anly !
nwwlynLeh wnwdwahsn - 175 dd L”[‘J”L““‘”Lr"h npuidwghtp - 1,75
tnwpwgnrghsh Gipwjhu inpwdwahép - 0,4 inwpwgnighsh Gpwihl
Jud
wnpwdwaghdp - 0,4 JJ
tnwpwglwl gEpdwuwnhdwlp - <260 ¢
3D wn tnwpwgdwl gEpdwunhdwun - hwuwn 79
uihe hhuph twipwigunn hwnpuwlyf hepuigUull gondwunhautin
pbndwunhdwup-<100c¢ hhuh twpwgynn hwppwyh

hhdph dwytntup - PEI 6qunn hhduwjhu
hwppewy

File Transfer — USB drive, LAN

Extruder — Upgraded, direct extrusion

Leveling Mode — Hands-free auto levelling

Eypwl - 4,3 nynyd gnluwdnp ubUunpwjhu
Eypwu

pbpdwunhdwup -<100c
hhdph Jwytptup - PEI 6gynn
hhduwjhU hwppwy

File Transfer — USB drive, LAN
Extruder — Upgraded, direct extrusion
Leveling Mode - Hands-free auto
levelling




UunLgdwl punhwundwU yndwyGduwgnid-
Un

3ndph wywnunh wnghs - Wjn

3ncUph hbwpwynp tnGuwyutp - PLA,
PETG, ABS, TPU, ASA

Gnw2tuhp™ 1 twph

Upwnwnnpnnhg Gpw2iuhpwjhl bwdwy
(MAF) - Twhwugynd E

Eypw - 4,3 nynyd gnLtuwdnp

uGbunpwyhu EYpwu

UunLgdwl punhwundwu

yndwGduwgnru- Ujn

3ncdph wywnpunh inghs - Wjn

3ncdph huwpwynp wmGuwyubp -

PLA, PETG, ABS, TPU, ASA

Gpw2tuhp™ 1 tiwph

Upwwnpnnhg Gpw2fuhpwjhu
Uwdwly (MAF)/DAF

Ywpwdwnnpyh
dwwnwuwpwpdwl
dwdwlwly

Spwgpwjhu wwwhnynwdp® Windows 11*
CPU Inter i3 pnnunpyncdp ny 2nLun pwl
2023p. wd hwdwndtp

8GB DDR4

SSD 256 GB

120-240V/50-60 3g, ny wyt| pwU 100 4un,
Gpwjhu Junnuwy Schuko,

WLAN: 802.11 ax/ac/a/b/g/n, Bluetooth,
Eypwuh wuynLtuwghdp® wnuywqu

Spwapwjhu wwwhnynwdp®
Windows 11

CPU Inter i3 pnnwnpyntup ny 2nLn
pwl 2023p. wd hwdwndtp

8GB DDR4

SSD 256 GB

120-240V/50-60 3g, ny wybt| pwl
100 Y, GipwyhU Jwpnwy Schuko,
WLAN: 802.11 ax/ac/a/b/g/n, Bluetooth,
Eypwup wuyntuwghdp
wnuyjwaqu 15,6’nnyu LCD

» 1920*1080)
YnLpwyhp 15,6"nynd LCD (1920%1080), ( '
huwnb 6 HD , hwuwn 158
hwdwYwnpghs | hunbgnyws HD gpuwdhyw, u Upnr?gnjuwwq r uﬂ'g‘rfﬁﬂjuzt a w
Wdpnnowlwaqy untnlwawn, pyughl UL Uwhwlwy ’
Jwhwuwy
UnLnhnynnty, UG nn o]
Unnhnynnty, UGpyuwnnigywd pw;%r;jm?lu%bn ﬂuﬁnuﬁﬁrﬁ
pwndpwhunultp W funuwithnn, HD WEB HD WEB wbuwfughl, HOMI b '
ntiuwirughy, HOMI tp UnUdwaqli 2x USB 3.0
Unujwqu 2\x USB 3.0 bpwatuhp * 3 twnh
onuwiziuhe 3 nuinh Upwwnpnnhg tpw2hihpuyhl
Upwnwnpnnhg tpw2iuhpwjht bwdwy Uwdwl (MAF) IDAF
(MAF) - Twhwugynd £ yupwdwnnyh
dwwnwuwpwpdwl
dwdwlwy
10/100/1000 Ethernet wnpwn (1 Ghquiph Wan
10/100/1000 Ethernet wnpun (1
wnpw, 4 Ghquphpe LAN wynpw) USB Qhquphe Wan wn;qm I"4 (
huwintndbju (4G/3G/2G) Unntuh L. HDD Qhquiphp LAN umnm)’ USB 58
Wi-Fi GppenLnhg dwitnh ubpytph hwdwn hwun 5
24 Q3g+503g huwintnpdtju (4G/3G/2G) Unnbdh W

300Uphp/Uny, +867 Uphpe/uny, 802,11
ac/n/g/bla

HDD $wytnh ubnpytph hwdwnp
2,4 Q3g+5Q3¢g




WPA-PSK, WPA-Enterprise
(WPA/WPA2,TKIP/AES)

120-240v/ 50-603g, ywiwnh hnuwlph
wnwujwntn (Schuko plug) hnuwuph jwn
Schuko Jwnnwyny,

Gnw2tuhp” 1 twph

Upwnwnnpnnhg Gpw2iuhpwjhl bwdwy
(MAF) - NwhwUugynJ E

300Uphp/Uny, +867 Uphp/unu,
802,11 ac/n/g/bla

WPA-PSK, WPA-Enterprise
(WPA/WPA2, TKIP/AES)
120-240v/ 50-603g, ywiwnh
hnuwUuph wnwuwwnbp (Schuko
plug) hnuwuph jwp Schuko
Jwnpnwyny,
Gpwatuhp™ 1 wwnh
Upwwnpnnhg Gpw2fuhpwjhu
UwdJwl (MAF) IDAF
Yunpwdwnnyh
dwwnwuwpwpdwl
dwdwlwy

NMwunh wdpwgdwlu

MpnjGYwnnph Wwwnhu wdpwgdwu
hwywpwdnL

Unuwnwddwl inGuwyp - Unwuwnwnhu
wdpwgnn

Cwnddwl inbuwyp - pEpnLEjnLU
Ujnipep’ lGghpywd wnnujwin

MnpnjGYwnnph Wwiwinhu
wJpwgdwl hwywpwbdnL
UnUwnwddwU inGuwyp -
UnwuwnwnhlU wdpwgnn
CwndJwl nGuwynp -
pEpnLpINLU

Ujnipep’ IGghpqwd wnnujwn

9 hwjwpwdnL PwpanpnLpjwlu Yuwpquwynpned® 625-850 U | Pwpapnpjwl yupgwydnpned® huwn 79
wpnjtlyunnnph Swpdwin £ 225-315 JJ pGpnLpjwl 625-850 UU
hwdwn 2npwliwadh wnpwdwaghd nlubgnn Swnpdwn £ 225-315 U pEpnLpjwl
wnnEyunnputph hwdwp 2nowlwqgdh inpwdwaghd
UnwdGjwgnyup. AGnuwwnwpnnnienlu® nLubgnn wnpnjGywnnputph
20ya/44(p hwdwn
Upwnwnpnnhg Ephw2luhpwjhu bwdwy | Unwybjuagnuup.
(MAF) - 2h ywhwugynd RGnUwwwnnnnLR)NLU® 20yg/44|p
dwpbpenLd UGpwnywd Gu. Pwpbenid UGpwnywsd GU.
1 x UNO Board 1 x UNO Board
1 x USB dwyntfu 1 x USB dwntfu
1 x Jump dwinLhu, 1 x Jump JwinLhu,
1 x Breadboard 1 x Breadboard
5x LED |nyu, 5 x LED |nyu,
1 x ntghuwnnputph thwpebpe 1 x nGghuwnnputph thwptpe
10 RFID JE{UwpYuwjhu | 1 x Female to male dupond line 1 x Female to male dupond line h-5nL 158
hwjwpwdnr 1 x wnwntughndtun, 1 x wnwinBughndtunp,

1 x Buzzer

1 x 74HC595,

1 X hudpwywnpdhp punnituhy
1 x LM35,

1 x d(Gjuh ubuunp

1 x gunwale wlpwwnhy,

1 x $nnnbghuwnnnp

1 x Buzzer

1 x 74HC595,

1 X budpwywnpdhp punniupy
1 x LM35,

1 x dGjuh uGuunp

1 x gunwal. wlpwiwnhg,

1 x $nunnnbighuwnnnp




1 x Key Yyntwy,

1 x hGnwlywnwywnpdwlu Jwhwluwy
1x4 Uh2 gnLgwnpnn hunnnyuy
1x8* 8 YyGinwyhu Jwuinphgw Unnni|
1x1 pwlwl gnigwnpnn nhuw| G
1x pwjjwjht 2wndhgn nGYwywnnn uwihy
Tx pwjjwiht 2wndhg,

1 X 9g Servo,

1x1IC 1602 LCD

1 x XY joystick Unnnr|

1 x 2GnUwuwnhdwuh Unnny|

1x 2ph thnpbwpydwl Unnnr|

1 x RFID Unnnvy,

1 x RFID pwUwhubph 2npw

1 x RFID uwyhwnwy pwnun,

1 x dwyuwjhu Unnnc|

1 x nb|Gh Unnny,

1 x dwdwgnrgh Unnnt|

1 x 4*4 untGnuwown,

1xRGB 3 gnLuwynn unnni|

1 x 9V dwpwnyng Snap
Upwwnpnnhg Gpw2tuhpwjhu bwdwy
(MAF) - 2h ywhwugynru

1 x Key yndw,

1 x hGnwywnwywndwu

Jwhwlwy

1x4Uh2 gnLgunpnn funnnywy

1x8* 8 YGuinwhu Jwuinphgw

dnnni|

1 x 1 pjwl2wl gnLgunnpnn

nhuw(g)

1x pwjjwjhl 2wndhen

nGYwywnpnn uwihy

Tx pwjwht 2wnahs,

1 X 9g Servo,

1x1IC 1602 LCD

1 x XY joystick Unnnr|

1 x QGndwuwnhéwlh Unnny|

1x 2ph thnpdwpydwu Unnny|

1 x RFID Unnny,

1 x RFID pwUwhubph 2npw

1 x RFID uwhuinwy pwpwn,

1 x dwjlwjhu Unnni|

1 x nbGh Unnny,

1 x dwdwgnygh Unnnr|

1 x 4*4 unbnuwown,

1xRGB 3 gnLuwynn Unnnr|
1 x 9V dwpwyng Snap

1

Utuunpwyjhlu
Unnnrjutph
hwyjwpwdnL

dwpbpenid UGpwnywd Gu.

1 x Soil module

1 x Infrared sensor receiver module,

1 x Laser head sensor module,

1 x Temperature and humidity sensor module,
1 x Infrared emission sensor module,

1 x 5V relay module,

1 x Gyro Module,

1 x For Arduino finger detect heartbeat module,
1 x Microphone sensitivity sensor module,

1 x Metal touch sensor module,

1 x Flame sensor module,

1 x 3-gnyu LED Unnny|

1 x Hunt uGUunpwyhu Unnny,

1 x qdwjhu Jwquhuwywu Hall uGuunn,
1 x Munnynn Ynnwdnnphy Unnnty

1 x wywnhy wgnwuwuh Unnndy,

1 x Magic Light Cup unnn,

1 x ®npn Wwuhy wgnwl2wlwihu Unnndy,
1 x pqwjhu eEpdwuwnhdwuh uGuunpwjhu
Jnnn,

dwpbpenid UGpwndwsd Gu.

1 x Soil module

1 x Infrared sensor receiver module,

1 x Laser head sensor module,

1 x Temperature and humidity sensor
module,

1 x Infrared emission sensor module,
1 x 5V relay module,

1 x Gyro Module,

1 x For Arduino finger detect heartbeat
module,

1 x Microphone sensitivity sensor
module,

1 x Metal touch sensor module,

1 x Flame sensor module,

1 x 3-gniju LED Unnnr|

1 x Hunt uGUunpwjhu Unnny,

1 x gbwjhU JwgUuhuwywu Hall
ublunp,

1 x Muninynn Ynnwiynphy unnn|

h-6nL

158




1 x ebip wlpwinhy Unnnyy,

1 x 3nigbiph wuwnghwywl dwquhuwywu
uGlunp,

1 x Ninpwdwjuwihu Unnny,

1 x Mercury pwgduwl Uunnny,

1 x Hall JwqUuhuwywU uGUunpuwhu Unnny,
1 x RGB LED SMD unnnu,

1 x Arduino Mini Reed Unnnrh hwdwip,

1 x Gpyagnyu LED punhwuncp Ywennwjhu
dnnni 3 JU,

1 x Smart car funLuwithnn funspunnultinhg
hudppwywnpdhp uGuunpwyhu
PnuinnEGYINpwWywl wlpwinhy,

1 x Key switch Unnnuy,

1 x dninnntghuwnnp Unnnvy,

1 x Breadboard EuGpghwyh Unnny,

1 x Arduino-h hwdwin hwpdwéh
uGUunpwyhu Unnnvy,

1 x pGpdwunhdwuh uGUunpwjhu Unnny,
1 x yhppwghwjh wugwunhy Unnny,

1 x unuwithnnh dwjuh uGLunpwjhu Unnny,
1 x Large reed Unnn|,

1 x Gpygnyu LED Unnny,

1 x oywnhlywywl fuguwilu Unnnyy,

1 x 9Gpdwuwnhdwuh uGLuunpwjhu Unnnyg

1 x MP1584EN buck Unnnvy,

1 x SD pwpuwn puptpgnn dnnny,

1 x PS2 Joystick huwnh Ywpquynnphy unnnt|
Arduinoh hwdwp

1 x UJwnndwun pwpenn LED Unnny|

1 x DS1302 dwdwgnygh Unnny| (wnwlg
dwnwyngh)

1x onh dwywpnwyh unnnt|
Upunwnnpnnhg Gpw2tuhpwjhu bwdwy
(MAF) - 2h ywhwugynrd

1 x wywnhy wgnwu2wuh dnnnuy,
1 x Magic Light Cup Unnnu,

1 x ®npnp wwuhy
wgnwu2wuwjhu unnn|,

1 x pwjhu gGpdwuwnhdwuh
ubGLUunpwyhu Unnnuy,

1 x ptip wlpwwnhy Unnnd,

1 x3nigtph wuwmnghwywu
JwqUuhuwywU uBuunp,

1 x Nyuinpwéwjuwihu Unnny,

1 x Mercury pwguwl Unnn,

1 x Hall Jwquhuwywu
uGUunpwjhu Unnny,

1 x RGB LED SMD uUnnn,

1 x Arduino Mini Reed Unnntih
hwduwp,

1 x Gpygnyu LED punhwlntp
YwpennwjhU Unnny 3 UU,

1 x Smart car punLuwithnn
fungplunnultnhg
hudpwywnpdhp uGUunpwjhu
PnunnEGHNpwywL wlgwiinhy,
1 x Key switch unnnu,

1 x dnuinnntghuwnnp Unnnty,

1 x Breadboard EuGnghwjh unnnuy,
1 x Arduino-h hwdwn hwpywdh
uGbunpwyhu Unnnvy,

1 x gindwuwnhéwuh uGLunpwjhu
Jnnnvy,

TxUhpnwghwjh wugwnhy
Jnnnvy,

1 x punuwithnnh dwjuh
uGUunpwjhu Unnnuy,

1 x Large reed unnnty,

1 x Gpyagnul LED Unnnuy,

1 x owywnhywywu fuguwl Unnny,
1 x pEpdwunhdwuh uGuunpwjhu
dnnng

1 x MP1584EN buck Unnni|,

1 x SD pwnuwn pupbpgnn unnnyy,
1 x PS2 Joystick huwnh
Ywnpgwynnphy Unnnt| Arduinoh
hwdwn

1 x Udunndwwn pwpenn LED
Jnnni|




1 x DS1302 dwdwgnvjgh unnny|
(wnwlg dwpwnyngh)
1x onh dwywpnwyh dnnnt|

12

Smart Robot Ukptluw
hwywpwdnL

dwpbpenid UGpwnywd Gu.

1 x V4.0 Development Board

1 x L298P Shield

1 x V5 Sensor Shield

1 x HC-SR04 Ultrasonic Sensor

1 x HM-10 Bluetooth-4.0 Module

1 x Remote Control

1 x Led Matrix Panel 8x16

1 x HX-2.54 4P Female Dupont Line

1 x 9G Servo Motor

1 x IR Receiver Module

2 x Photocell Sensor

1 x Red Led module

1 x Acrylic Board

1 x Tank Robot Acrylic Board

4 x Metal Holder,

1 x L-type Brackets,

2 x Tank Driver Wheel

2 x nwuyh ynpnn wuhy

2 x Caterpillar Band,

2 x UGinwnwywu 2wndhy

1x wiwuwnhy hwnppwy,

1 x USB dwyntfu (1 U)

5 x 2.54 3pin F-F Dupont uGunwnwiwp (20 ud)
10 x F-F Dupont uGunwnwiwp (15 ud)

2 x Upwygnn Jwubp (27*27*16 Ud,
yuwuwntyun)

1x 18650 2 puhy dwnwnyng wwhnn

2 x ynuab enuh, 4 x Ggn Yynpnn

10 x yGgwuyjnLt ynubkb enith (M3*10 UU)
4 x JGgwuyyntu ynudk encth (M3*45 JuU)
2 x ynuéb Jhwgntd,

3 x M3 * 10 JU hwpp gjtuh yunntwnwyubp
20 x LGpphUu yEgwuynLtu wywnntinwyutp
(M3*6 UU)

10 x LGpphu YyEgwuyjnttu wuinncuinwy (M3*8
uu)

4 x LEpphu YGgwuynLtu wyuinncuinwy (M3 * 25
Uu)

4 x Lbpphu YGgwuyjnLtu wyunncuinwy (M4 * 12
Uu)

4 x Lbpphu yGgwuyntt yunncwinwy (M4*40
Uu)

Pwpbpenid UGpwnywsd Gu.
1 x V4.0 Development Board

1 x L298P Shield

1 x V5 Sensor Shield

1 x HC-SR04 Ultrasonic Sensor
1 x HM-10 Bluetooth-4.0 Module
1 x Remote Control

1 x Led Matrix Panel 8x16

1 x HX-2.54 4P Female Dupont Line
1 x 9G Servo Motor

1 x IR Receiver Module

2 x Photocell Sensor

1 x Red Led module

1 x Acrylic Board

1 x Tank Robot Acrylic Board

4 x Metal Holder,

1 x L-type Brackets,

2 x Tank Driver Wheel

2 x tnwuyh ynnn wuhy

2 x Caterpillar Band,

2 x UGlnwnwywl 2wnpdhy
Tx wwuwnhy hwppwy,

1 x USB Jwynchu (1 U)

5 x 2.54 3pin F-F Dupont
JGuinwnwwn (20 ud)

10 x F-F Dupont UGuinwnwiwn (15
ud)

2 x Upwiygnn dwubip (27*27*16 UU,

Juwnujun)

1x 18650 2 puhy dwnwyng
wwhnn

2 x ynuak pniih, 4 x Ggn Ypnn
10 x yGgwuyjnLl ynudt pnLth
(M3*10 Uu)

4 x yGgwuynLtt wynuadk pncth
(M3*45 Uu)

2 x ynuat vhwgntd,

3 xM3*10 U hwpp gjtuh
wwnncinwyubn

20 x LEpphUu yGgwuyyncu
wunnLinwyutp (M3*6 JuU)

10 x LGpphu YEgwuynLu
wuntunwly (M3*8 Ud)

hwun

158




2 x Lbpphu yGgwuyntu ywnninwy (M4 * 50
Uu)

14 x M3 puynygq,

2 x M4 hupuwthwyynn Nuts

8 x M2 puynyyq,

10 x M4 Nuts

6 x M2 * 10 JJ Ynp gjruny wywnnwinwyutp

8 x M3 * 12 JU ynp giiunyd wyuinnuinwiyubp

2 x 2.0 * 40 JU Slotted MinnLinwwhwu

1 x M1.5 GgwuyjnLu pwlwih UpyGwwwn
Allen yunnLinwywpwluwih

1 x M2.5 Ggwuyntu pwlwih UpyGwwwn
Allen wunnLinwwpwlwih

1 x M3 yGgwuyntl pwlwih UhyGuiwwwn
Allen yunnLunwywpwuwih

6 x UG inut Jwnthuwghu Yuwtbn

1 x 8 UU ninpniu funnnduwiy (12 ud)

1 x nGYnpwwnhy unyjwpwpenLnpe
Upwnwnpnnhg Gpw2iuhpwjhu bwdwy
(MAF) - 2h ywhwugynrd

4 x Lbpphu yGgwuyjncu
wwnncwinwy (M3 * 25 Ud)

4 x Lbpphu yGgwuyjncu
wuncuinwy (M4 * 12 Ju)

4 x Ltpphu yGgwuyjnLu
wunLunwy (M4*40 Ju)

2 x LGpphu yGgwuyjnLu
wuntunwy (M4 * 50 Ju)

14 x M3 puynyq,

2 x M4 hupUwthwyynn Nuts

8 x M2 puynyq,

10 x M4 Nuts

6 x M2 * 10 JJ Yinp gjruny
wwnLwnwyubp

8 x M3 * 12 U ynp qfuny
wwnncinwyubn

2 x 2.0 * 40 JU Slotted
MunLinwywhwl

1 x M1.5 Jgwuyntu pwliwh
UhyGuwwin Allen
wunuinwywpwlwih

1 x M2.5 JGgwuyntu pwlwih
UhyGuwwn Allen
wwnnLinwywpwuwih

1 x M3 yGgwuyntl pwliwth
UhYyGuwwwwn Allen
wunnLinwywpwuwih

6 x Ut nut Jwinthuwyhu Ywwbn
1 x 8 UU ninpncu funnnduwiy (12 ud)
1 x nGYnpwwnhy unjwpwpnLnpe

13

ElEyunpwyuwu
utuunpubpph
hwyjwpwdnL

RQwywpwdniu UGpwnned E.

1 x Traffic light module

1 x RGB LED module

1 x 4-digit LED Display module

1 x Active Buzzer module

1 x Passive buzzer module

1 x Motor Module

1 x RJwjhU Yndwyh Unnnr|

1 x UnunGuuhy hydwu uGuunn
1 x f[dwyngutph uGuunn

1 x pGpnLRjwU pYwhu ublunn
1 x Lnyuh punhwwndwU uGuunp
1 x gGpynl ublunnp

1 x 3nh JwguhuwywU ublunn
1 x PwhudwU $|62 utuunp

1 x @5h hGunnwagbdwl ublunp

Swywpwdniu UGpwnnud E.

1 x Traffic light module

1 x RGB LED module

1 x 4-digit LED Display module

1 x Active Buzzer module

1 x Passive buzzer module

1 x Motor Module

1 x [FJwjhU Yndwyh unnnr|

1 x UnunBLuhy hwydwu uBlunnp
1 x f[dwyngutph uGuunn

1 x pGpnLpjwU rYwhu ublunn
1 x Lnyuh punhwwndwu uGuunp
1 x gpynu utuunp

1 x 3n|h JwguhuwywU uGlunp
1 x Pwhudwlu |62 uGuunp

1 x @6h hGunnwgbdwl uGuunn

h-6nL

158




1 x punygpunnunuinhg funLuwithGne uuunn
1 x dnunngbih uGuunn

1 x Uuwinquwjhu gEpdwuwnhdwuh gnighy
1 x UuwinquhU nnuinwghwjh uGuunn

1 x Uuwinquyhu dwjuwyhu innyhy

1 x d15)Uh wgnwu2wlwjhu uGuunn

1 x onh dwywnpnwyh utluunn

1 x hnnh punbwynjwu ubGlunn

1 x gninp2nt funuwynijwu ublunp

1 x Uepwdhywywl yhppwghwih uGuunn
1 x Lwpdwl hwynuwptGpdwU dnnny

1 x pdwjhl IR hwnnpnhy Unnnt|

1 x pqwyhl IR punnLuhy Unnniy

1 x Joystick Unnnr|

1 x 1 Channel Relay Unnnr|

1 x Munuinynn Ynnwynphy unnny|

1 x qupyGpwywjhu wpwagniejwlu
Unuhwnnphugh ublunp

1 x gbwjhu gEpdwuwnhdwuh ublunp

1 x DHT11 unbwynLpjwl gbndwuwnhbwuh
Jnnnr|

1 x HC-SR04 nLjnpwéwjuwihu dnnnyg

1 x PIR 2wnddwl gnLghy

Upunwnnpnnhg Gpw2tuhpwjht bwdwy
(MAF) - 2h ywhwugynrd

1 x fungpunnunliinhg
hunLuwithGjnL uGuunnp
1 x dnunngbih uGuunn
1 x Uuwnquyhu
obGpdwuwinhdwuh gnighy
1 x Uuwnqwyhu nnuinwghwyh
uGlunn
1 x Uuwinquyhu dwjuwjhu wnnyhs
1 x d|5)Uh wgnwl2wlwjhu
uGlunn
1 x onph dwywnnwyh ublunn
1 x hnnh funbwyntejwl uGuunn
1 x gninn2nL funbwynLpjwu
uGlunn
1 x UGpwUhywywu yhppwghwih
uGlunn
1 x LwpdwlU hwjinuwpGpdwl
dnnnt|
1 x pwjhu IR hwnnpnhs Unnnt|
1 x pwjhu IR punnLuhy Unnnt|
1 x Joystick Unnnr|
1 x 1 Channel Relay Unnnt|
1 x Munwndnn Ynnwdnnphy Unnne|
1 x qunyGpwywjhu
wnwagntpjwl Unuhwnnphugh
uGlunn
1 x qdwjhu pGndwuwnhéwuh
uGlunn
1 x DHT11 lunuwyntejwu
oGpdwuwnhdwuh Unnnig
1 x HC-SR04 nLjinpwéwjuwyhu
dnnnt|

1 x PIR 2wpddwl gnLghy

UTP Cat6 LAN dwynifu 100 U

UTP Cat6 LAN dwintfu 100 U

14 UTP dwnLfu Upwnwnpnnhg Gphw2fuhpwjhu Lbwdwy hwun 1 1 79
(MAF) - 2h ywhwugynrd
RJ45 Uhwyghsy (Cat6)

15 UTPUhwlghs | Upinwnpnnhg bpwauhpughl Uwdwy | 7049 Uhwigh: (Cato) huwn 50 50 3950
(MAF) - 2h ywhwugynrd
RJ45 uhwiyghgh uGnudwu gnnpéhp

16 ubnﬁﬂﬁﬂ%hrfrl:bhg Upwnwnpnnhg Epw2luhpwjhu bwdwy RJ4S th(:rﬁrgﬁgbnddwh hwuwn 3 3 237
(MAF) - 2h ywhwugynLd
Uwinthuwgh Ywuwhy 10 ud

17 thllr:l'l'mrl:;jhu Upwnwnpnnhg Epw2luhpwjhu bwdwy Uwincfuuyht huiwghy 10 ud hwun 1 1 79

(MAF) - 2h ywhwugynLd




Micro HDMI male to HDMI male Jwinifu, 19-pin
HDMI inGuwyp A(m)
Gpywpnipyntup 1 J

Micro HDMI male to HDMI male
dwinchu, 19-pin HDMI tnGuwiyp

18 Uwinchu HDMI hwJwintntih 4Kps0 htin A(m) hwn 158
Ununuwnpnnhg bpusfuhpuyhl buddwy | SPHUMRRIRLD Y
(MAF) - 2h wwhuwilgynid widinGnGih 4Kp60 htin
ElGYunpwywl nmwnppGnph hwywpwdnt. ElGYunpwywl tnwipptph
1 x Power Module hwywpwdnt.
1 x 830 Connection Point Breadboard 1 x Power Module
1 x 65 Jumper 1 x 830 Connection Point Breadboard
140 x Solderless Jumpers 1 x 65 Jumper
20 x Female-To-Male Dupont Cables 140 x Solderless Jumpers
2 x Pin Headers (40 thhu) 20 x Female-To-Male Dupont Cables
1 x 62gnhwn Wnwnbughndbunn 2 x Pin Headers (40 thhu)
2 x dnuinnntghunnnputp 1 x 62gnhwn wnuinbughndtunn
1 x @EpUhuwnnn 2 x $nunnnbghunnputn
5 x nhnnwjhu nLnnhsutp (1N4007) 1 x [GpUhuwnnp
5 x NPN inpwiighuwinnplutip (Pn2222) 5 x nhnnuwjhu nLnnhsubp (1N4007)
1 x1C 4N35 5x NPN tnpwughuwnnputp
1 x IC 74Hc595 (Pn2222)
1 x Uywnhy dwjbwnpyhy 1x1C 4N35
1 x Mwuhy dwjbwpyhy 1 xIC 74Hc595
10 x Yndwiyubp (thnpp) 1 x Uywnhy édwjuwpyhy
10 x 22 pf Yapwdhywywu 1 x Mwuhy dwjliwnpyhy
ynunGuuwwnnputn 10 x yndwyubp (thnpp)
o Bi&Gupwiuit 0 000 Yapwuhwyuwl 10 x 22 pf Ytnwuhlwywl
wnwpnptph h-6nL 158
hwywpwdnt ynuntGUuwwnnnputn ynunGUuwwnnnputn
5 x ElGYuinpnihnhy YnunGUuwwnnputn 10 x 100nf YEpwUhywywl
(10*Uf 50V) ynunbUuwwnnpubp
5 x ElGyunpnihuinhy ynuntuuwwnnputp 5 x ElGYwnpnihuinpy
(10*0Uf 50V) ynunGUuwwnnpubp (10Uf 50V)
10 x Uwhuwwy |nLuwnhnnubn 5 x ElGYywnpnihuinpy

10 x nGnhUu (nLuwnhnnutn

10 x Ywuwnyuwn |nLuwnhnnutp
10 x Ywliwy (nLuwnhnnutn
10 x Ywpdhp [nLuwnhnnutn
1x RGB LED

10 x nGghuwnnputn (10*R)

10 x nbghuwnnputin (10*0R)

10 x nhdwnnpnpenLl (220R)

10 x nhdwnnpnpenLl (330R)

10 x nhdwnpnipncu (1K)

ynuntUuwwnnputn (10*0Uf 50V)
10 x Uwhwwy |nLuwnhnnubn
10 x nGnhUu |;nLuwnhnnutn

10 x Ywuwnuwn |nLuwnhnnutn
10 x Ywlwy (nLuwnhnnubn

10 x Ywpdhp (nLuwnhnnutin
1x RGB LED

10 x nGghuwnnputn (10*R)

10 x nghuwinnputin (10*0R)

10 x nhdwnnntpejnLu (220R)

10 x nhdwnpnLpnLu (2K) 10 x nhdwnpncejniLu (330R)
10 x nhdwnnpnenLu (5K1) 10 x nhdwnnn)niu (1K)
10 x nGghuwnnputbp (10*K) 10 x nhdwnpnp)nLu (2K)
10 x nEghuwnnputn (10*0K) 10 x nhdwnpnipnLu (5K1)




10 x nbghuwinnplutin (1 U)

Upwwnpnnhg Gpw2tuhpwjhu bwdwy
(MAF) - 2h wwhwlUgynLd

10 x nghuwinnputin (10*K)
10 x nghuwinnputin (10*0K)
10 x nbghuwnnputp (1 )

Uwntnuwawnph wnwntn hwjbptu,
pPwhwughy

ogunwgnpdUdwl huwpwynpnrpyniLu -
Utlwugwdjw ogunwgnpddwl
hUwpwynpntpenLu

Pattern - Letter Print

Uwntnuwownh wnwnbn hwjtpt,
RrWhwughy

ogwnwgnpddwl
hUwpwynpnLenLu -
UtjwuqwdJjw ogunwgnpddwl
hUwpwynpniejnLu

20 Yusntt ywhunwy Uhwynpubph pwlwy - 1 hwwn Pattern - Letter Print hwun 10 10 790
Udwpunwywl intupp - wlthwy) Uhwynputbph pwuwy - 1 hwwn
Ujneh inGuwyp - yhuhy Udwpunwlwu inGupp - wlthwy)
Quwithu — JnLpwpwuynip twn 11 U x 13 Jd | Ujnph wtnGuwyp - yhupy
(0,43307"mynyd x 0,51181"" rynyd) Quwithu - JnLpwpwitiginLp tnwin 11
Upwnwinpnnhg Gpw2luhpwjhu bwdwy JuU x 13 JU (0,43307"rynyd x
(MAF) - 2h ywhwugynrd 0,51181""'nynyd)
ElGYunpwywl gnpdhputnh

ElG4unpwywl gnpdhputph hwywpwdnL hwywpwdnL wnuywql hGunlyw
wnUuywaqu hGnlyw ywpnluwynipjwdp. wwpnLuwynLpjwdp.
1 x ([dJwjhUu Unuinhdtuinp () DC jwpned ~ 1 x [JwjhUu Uncinhdtiuinp () DC
1000V, AC jwpntd ~ 750V, ~ 2000Kohm, DC [wnncd ~ 1000V, AC jwpntd ~ 750V,
Amp ~ 2000u ~ 2000Kohm, DC Amp ~ 2000u
1x 5" Shnwulynu Yinpnn 1x 5" Shnwuynu yunpnn
nwhwywptpwU wpgwl nwthwywptpwl wpgwl
1x5" Gpywp peny nwthwwptpwl 1x5"™ Gpywp peny
wpgwu nwthwywptpwl wpgwl
1 x fdwyhUu jwpdwU unnighy 1 x [dJwjhu jwnpdwl unnLghy

ElGyunpwyuwu 1 x 30W soldering iron GpYwie 1 x 30W soldering iron GpYywie

21 gnpbhpubph 1 x Uwwgnnuwu wyndw 1 x Uwwagnnuwlu wndy h-&6nL 2 2 158
hwyjwpwdnL 1 x Juwwwn + hwywopuhnhy (hnup) 1 x ywwwn + hwywopuhnhy

(QnnUwu phetin)

1 x UGinwnwywu JGyncuhy dwpnnn
agnndhp (UGunwnwywl ptipédnn) 0,6-2,6 UJ
1 x Mhugbwn

1 x YMwlwy thnpuynn 26npGnny

1 x uyhwnwy PVC dwwwytu

2 x Munntinwywhwl 3" nynyu x3D+-

2 x Munntinwywhuwl 3" nynyu x5D+-
Upwwnpnnhg Gpw2tuhpwjhu bwdwy
(MAF) - 2h ywhwugynd

(hnup) (qnnuw ehetin)
1 x UGuinwnwywu JGynrupy

Jwpnnn gnpshp (UGnnwnwywu
ptindnn) 0,6-2,6 UJ
1 x Mhugbwn
1 x Ytwlwy thnpuynn 26npGnpny
1 x uyhwnwy PVC dwwywytu
2 x MinnLinwywhw 3" nynyd
x3D+-

2 x Mnntinwywhw 3" ynyd

x5D+-




Uwaguhuwyuwl
22 wywunncnwwhwulu
tGph hwjwpwdnL

Uwquhulwl yunncinwywhwuubnph
hwywpwdne pnuwyny W 54 gqiupyutpny?
7 hwuw. LEpphu yGgwitiynit yupnwyubp®
M2.5/M3.0/M3.5/M4.0/ M4.5/M5.0 / M5.5
Unptin*1.3/1.5/2.0/25/3.0/35/4.0
dhihwu' 1.5/2.0/2.5/3.0/3.5

Torx* T3/T4/T5/T6/T7/T8/T9/T10/T15/
T20

Hex: H1.3/H1.5/H2.0/H2.5/H3.0/H3.5/H4.0/
H4.5/H5.0/H6.0

Pozi: Pz0/ Pz1: 2.0/2.3

Gnbp pUEN' Y2.0/Y3.0

MGUnwinp (wuwn)*0,8/1,2

U-al* U2.6

Yinp* 1.0

1x H4 * 120 UJ Gpywpwguwl pwn

1 x Uwpdwnt Jhwyghy

1 x pwquwdnruyghnuw GplHwnpwgdwu
Jwinihu

1 x gnuq whugtwun

Upwnwnpnnhg Gpw2iuhpwjhu bwdwy
(MAF) - 2h ywhwugynLd

Uwquhulwl
wwnnLinwywhwuutph
hwywpwdnL pnuwyny W 54
gliupyutpny’
7 hwuwn. Ltpphu yGgwuyynLu
Jwpnwyubp*M2.5/M3.0/M3.5/
M4.0 /M4.5/M5.0/M5.5
Uinptin*1.3/1.5/2.0/25/3.0/35/
4.0
dhihwu' 1.5/2.0/2.5/3.0/3.5
Torx* T3/ T4/T5/T6/T7/T8/T9/
T10/T15/T20
Hex: H1.3/H1.5/H2.0/H2.5/H3.0/
H3.5/H4.0/H4.5/H5.0/ H6.0
Pozi: Pz0/ Pz1: 2.0/12.3
Gnbp pWEN* Y2.0/Y3.0
MEUnwnp (wuwn)*0,8/1,2
U-al" U2.6
Yinn*1.0
1 x H4 * 120 UJ Gpywpwgdwu
pwn
1 x Uwnpdwntb Jhwyghy
1 x pwgUwdnrLuyghnuwy
Gpywpwgdwl Jwincfu

1 x gnyg whugbun

h-6nL

158

Digitally signed by KHACHATRYAN

ROBERT 1111960887
Date: 2024.04.18 08:53:32 PDT




IUdELYUS 2

nthuuhjwlywlu punLpwaghp -
qgudwlu dwdwluwlywgnygh
Suuy
Jwwnwwpwpdwlu hwugbubph
3/h | Uwpnq Tuypng | wughk

Shduwwl nypngutiph 20-wawybkpwn unnLpjwdp

Upwpwuwnh Jwpq

p. Upwpwwnh phy 1 hin

CwhnLUjwl thnnng, 62

p. Upwpwwnh M. Ulwyh wudwl phy 2 hin

CwhnrJjwl thnnng, 16

p. Upinwowwnh phy 4 h/in

Uwppuh thnnng, 20

p. Upinwowwnh phy 3 h/n

Ognuwnuh 23-h thnnng, 25

p. Upunwowwnh 3. dndwljwuh wujwl phy 2 hin

Unwyjwl thnnng, 32

p. Upwpwwnh phy 4 hin

fuwugjwl thnnng, 63

p. Uwuhuh U. Uwounngh wudwu phy 1hin

Gplwljwl thnnng, 58

p. Ytnhh phy 2 hin

Quijh thnnng, 3

p. Upinwowwnh phy 5 h/n

Udwnjwl thnnng, 1

p. Uwuhuh phy 2 hin

Twpngwywuutph thnnng, 1

NN N e alalalalalalalala
RN S|lo|lo|N|lo|a|n|lo|n|a|o|@ (e N|o | g~ w | =

Unwnw)ph dwnq

p. UpnJjwlh 4. 3wdpwpénidjwuh wudwu phy 10 h/n

UlLwgwlywljwu thnnng, 5

p. Upnyjwlh phy 7 hin

2-pn Upynpnapgwii

p. Upndjwilih U. JwlywUp wudwl phy 5 hin

MNnuhwjh thnnng, 8/4

p. 5nwpnh phy 3 hin

PwddnL thnnng, 26

0.QwnUph U. 3wynpjwuh wudwl phy 1 hin

QynLn Quinuh

p. Gndwpnh 3.Qwnlnujwuh wudwl phy 2 hin

Uwdwpjwu thnnng, 88

p. Lnp 3wduh rhy 1 h/n

Quwipklugh thnnng, 20

p. UpnJjwuh U. UunnUjwuh wuydwl phy 8 hin

Uwpwjwug thnnng, 8/10

p. Lnp 3wduh rhy 3 h/n

Snnnqul thnnng, 11

p. Lnp 3wduh UGSU UnLpwinh wudwl rphy 4 hin

CwhnrJjwl thnnng, 1

¢.Qwnuh Pwuwywuh h/n

Qunuh AFwlwdwl

a.96wnwnqgbih hin

QynLn QGwnwpgb)

p. Upnyjwuh phy 2 hin

Swuwnnih thnnng, 1/15

p. Upnyjwh phy 6 hin

Uwpwjwuph thnnng, 1

25

26

27

28

29

Upwpuwuwunh dwnq

p. Uwuhuh phy 5 win

Gplwlywl thnnng, 73

a. Lowdwuh din

Chpwgh thnnng, 58

a. Ywnpwytpwnh J/n

LEUpNUWYwU thnnng, 133

g. Lnp Ywuph U/in

Quntugh thnnng, 7

g- 2npwyh U. UGpnUjwuh wuyjwl U/n

Fwnpwdjwu thnnng, 59/2




30 g. Upqudwunh U/n LGUnpnUwywu thnnng, 28

31 g. Upwybgh U/n (dnLdwljwl thnnng, 10

32 a. Updwoh U/n SwlupwuwbwnnLpjwu thnnng, 42
33 . Unpwpwgh U. UwGgwuh wujwl U/n “wnpngwywultph thnnng, 18
34 g. Nuuinwiuh Uin Shgpwl UGsh thnnng, 4

35 g. Upwpwuwnh phy 2 U/in huwynyh thnnng, 2

36 g. UpqwiyGunh U/n Uwawnngh thnnng, 27

37 g. Gnnwywith Uin Uwnpquunnlunc thnnng, 8

38 g. Upwpwuwnh phy 3 U/in uuyn Uwnnp thnnng, 43

39 g. LnLuwnuwwnh Jin Quwinioh thnnng, 36

40 . Uwjwp-Lnywih U/n PwddnL thnnng, 5

41 g. UnLpGbwdwuh Uin T pngwywultnh thnnng, 1
42 g. Ywpnwobuh U/in Uypuwywu thnnng, 11

43 g. Uguunwywuh U/n Uwowngh thnnng, 1

44 g. twonwywluh Q. Snunjwuh wuyjwl U/n Snunjwl thnnng, 2

45 g. Lnpwdwnpgh U/n 17-nn thnnng, 39

46 g. Bwngpuwotuh U. QlLnpgjuth wudwu J/n AnLpjwl thnnng, 18

47 g. SwihGpwywuh U/n (dwdwlghubiph thnnng, 10

48 g. PunpwJjwuh U/n Upwnwwwunh juénLnh, 10

49 g. LnpwtUh U/n Quyh thnnng, 1

50 g. NLpgwéannh U/n Shgpwl Utsdh thnnng, 30

51 g. Yjgwywuh U/n 3nyhwlUhujwl thnnng, 43

52 g. Yjgbqupnh U. TYwphpjwlh wudwu U/n Uwpwingh thnnng, 17

53 g. LEpphu MJhup L. Uggwijnjwuh wudwl J/n OnptinL thnnng, 14

54 . Uwpdwpwotuh J/n GnlLwu- Upunwown huénnh, 71
55 a. Udpwnh U/n Uwownngh thnnng, 13

56 ag. Uwuhuh U/n Uwpwhpnujwl thnnng, 11

57 a. 3Inyunwawuwnh Uin Fwnpwdjwu thnnng, 110

58 g. Y6phu Upwnwowwnh J/n Upwpwuwjwl thnnng, 99

59 g. Cwhnidjwuh U/in Swdpwpénidjwl thnnng, 5
60 p. Upwpwuwnh phy 5 U/in NLUd-h Pwluwywu

67 g. Yupwwh rphy 1 Uin 11-pn thnnng, 45/1

62 g. Uhugjwup U/n UjwdEBpnywu thnnng, 30/

63 a. Lnp vwppbpnh rhY 2 Uin 1-hU thnnng, 14

64 g. Lnp lvwpptipnh phy 1 Uin 5-nn thnnng, 1

65 g. Yupwwh P. Uwpqwpwuh wujwu phy 2 J/in 4-nn thnnng, 2/1

66 a. Pnpp dbnnL U/n 3nyhwuUhujwl thnnng, 26

67 a. 2nytoh U/n 5-pn thnnng, 3

68 p. Upnyjwlh Yppwhwdwihp UpnyjwU thnnng, Ntuwunnwywl pwnwdwu, 3
69 a. Qnwtuh U/n 1-hU thnnng, 83

70 g. UnhUugh Y. SwnnLyjwuh wudwu J/in Uwownngh thnnng, 66

71 Unuwwjph dwnpq a.Lnp Qbnhh rhy 1 U/n fuwswuwnpjwu thnnng, 4

72 a. Pwlwptbnwywuh U/n 11-pn thnnng, 26Up 5

73 a. UynLuph U/n LUGUnpnuwywl huénLnh, 33
74 a. UpquiptUuh U/in 1-hU thnnng, 2-pn thwyninh, 8
75 g. anpwinpinLph Y Ywpwwbnjwuh wujwl U/in LnLuwynpnipjwl thnnng, 20




76 4. 2npwywuh U/in 1-hu thnnng, 26

77 g. Lnp Qknhh 8nL. Gphgjwuh wujwu phy 2 U/n Awquwpnjwu thnnng, 35

78 g. YUnuinwjph U. YwpnwUwuh wujwu U/in YGUnpnuwywlu thnnng, 4

79 g. Mnnuhh U/n 2-nn. thnnng, 2
SUPELUL» UNL nbhoplil’ Lnplypun Fowsuanpud




		2024-04-18T08:53:32-0700




